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MATLAB

-

SNERERERERERERN
2. Udoodoodoododtdmatlabd 000 00g

HRERERERE

% mkdir matlab [RET]

% cd matlab [RET]

oo bdodbodbdbobdodbdn

. MATLABO OO OO O

% /usr/local/matlab5/bin/matlab [RET]

. MATLABOUOOOOOOOOOO

>>

. >>0oooboboudddgoon ot

. >>quit U 0O O[O
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rotation.m

function R=rotation(theta)

% ROTATION returns Rotation Matrix of angle theta
% Usage: R=rotation(theta)

% 2x2 matrix R is defined.
R = [cos(theta) -sin(theta);...
sin(theta) cos(theta)];

O0000 function: U0 O0OOOOOOOOOOOOOOO

00O : thetaDUO O : R
oo

>> rotation(pi/3)
>> R=rotation(pi/4)

>> help rotation
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logistic.m

function x=logistic(R,xinit,N)

% LOGISTIC caclulates a solution of the logistic map,

% with parameter R, an initial condition xinit and
% the number of iterations N.

% Usage: x=logistic(R,xinit,N)

% Default values

if nargin<1,R=3.999999;end
if nargin<2,xinit=0.2; end

if nargin<3,N=1000; end

% Allocate an Nx1 vector as an output X.
x=zeros(N,1);

HENRN
o

R, xinit, N

X

000oooDoog
Nx1O0DOOOODODoDoOoOooOoo
x(1) O xint(QO00)00000
00000000 for0000

% Calculate x_n for n=1,2,...,N.
X(1)=xinit;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
Lend
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logistic.m
ffunction x=logistic(R,xinit,N) —‘

% LOGISTIC caclulates a solution of the logistic map,
% with parameter R\an initial condition xinit and
% the number of iterati

% Usage: x=logistic(R,xinit,
—[] 0 O R, xinit, N
% Default values
if nargin<1,R=3.999999;end Jot X
if nargin<2,xinit=0.2; end Jodoogggg
't nargin<3,N=1000; end Nx1O0OOOOOOO000000
% Allocate an Nx1 vector as an output X. x(1)) O xin(@@O0O0)0o0000
x=zeros(N,1); 00000000 foron0on
% Calculate x_n for n=1,2,...,N.
X(1)=xinit;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
\_end J
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logistic.m
ffunction x=logistic(R,xinit,N) —‘

% LOGISTIC caclulates a solution of the logistic map,
% with pakameter R, an initial condition xinit and
% the number of iterations N.

% Usage: x=logistic(R,xinit,N)
000 R, xinit, N
% Default values
if nargin<1,R=3.999999;end Jot X
if nargin<2,xinit=0.2; end Jodoogggg
if nargin<3,N=1000; end Nx1lO00OOO0OoOOoOOoooOoooono
% Allocate an Nx1 vector as an output X. x(1)) O xin(@@O0O0)0o0000
x=zeros(N,1); 00000000 for00nn
% Calculate x_n for n=1,2,...,N.
X(1)=xinit;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
\_end J
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logi st

ffunction x=logistic(R,xinit,N)

% LOGISTIC caclulates a solution of the logistic
% with parameter R, an initial condition xinit and
% the number of iterations N.

C.m

map,

% Usage: istic(R,xinit,N)

% Default values
if nargin<1,R=3.999999;end
if nargin<2,xinit=0.2; end
if nargin<3,N=1000; end

% Allocate an Nx1 vector as an output X.
x=zeros(N,1);

000
000
—000o0ooooon
Nx1O0DOOOODODoDoOoOooOoo
x(1) O xint(QO00)00000
00000000 for0000

R, xinit, N

X

% Calculate x_n for n=1,2,...,N.
X(1)=xinit;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
Lend
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logistic.m
ffunction x=logistic(R,xinit,N) —‘

% LOGISTIC caclulates a solution of the logistic map,
% with parameter R, an initial condition xinit and
% the number of iterations N.

% Usage: x=logistic(R,xinit,N)
HRERN R, xinit, N
% Default values

if nargin<1,R=3.999999;end ot X
if nargin<2,xinit=0.2; end Jodoogggg
' nargin<3,N=1000; end _ Nx100000000000000

x(1) O xint(QO00)00000
00000000 for0000

% Allocate an Nx1 vector as an
x=zeros(N,1);

% Calc
X(1)=xinit;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
\_end J
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logistic.m
ffunction x=logistic(R,xinit,N) —‘

% LOGISTIC caclulates a solution of the logistic map,
% with parameter R, an initial condition xinit and
% the number of iterations N.

% Usage: x=logistic(R,xinit,N)
HRERN R, xinit, N
% Default values

if nargin<1,R=3.999999;end ot X
if nargin<2,xinit=0.2; end Jodoogggg
' nargin<3,N=1000; end Nx1O00OOOOOOO0000000

- x(1) O xint(Q00)00000
00000000 for0000

% Allocate an Nx1 vector as an output X.
x=zeros(N,1);

% Calculate x_n for n=
X(1)=xinit;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
\_end J

oo0ooooooo D 100 —pd7/??




logistic.m
ffunction x=logistic(R,xinit,N) —‘

% LOGISTIC caclulates a solution of the logistic map,
% with parameter R, an initial condition xinit and
% the number of iterations N.

% Usage: x=logistic(R,xinit,N)
HRERN R, xinit, N
% Default values

if nargin<1,R=3.999999:end Hob x

if nargin<2,xinit=0.2; end Jodoogggg

it nargin<3,N=1000; end Nx10O0O00OO0OOOO00O0O0O0O0O
% Allocate an Nx1 vector as an output x. x(1))Oxint(OOO)oO00O0O0O

x=zeros(N,1); O000o0o0oo forooong

late x_n for n=1,2,...,N.
init;
for n=1:N-1

X(n+1)=R*x(n)*(1-x(n));
\_end J
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>> xc=logistic;
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>> xc=logistic;
>> size(xc);
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>> xc=logistic;
>> size(xc);
>> xc2=1ogistic(3.2,0.3,2000);

o |
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>> xc=logistic;
>> size(xc);
>> xc2=1ogistic(3.2,0.3,2000);
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>> xc=logistic;

>> size(Xc);

>> xc2=1ogistic(3.2,0.3,2000);
>> plot (xc)
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>> xc=logistic;
>> size(xc);

>> XC2="
>> plotes
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>> xc=logistic;

>> size(Xc);

>> xc2=1ogistic(3.2,0.3,2000);
>> plot (xc)

>> plot(xc(1:100))
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>> xc=logistic;

>> size(xc);

>> XC2="1 ' ' ' ' ' ' ' '
>> plotos
>>plot |
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>> xc=logistic;

>> size(Xc);

>> xc2=1ogistic(3.2,0.3,2000);
>> plot (xc)

>> plot(xc(1:100))

>> xlabel(’n’)

>> ylabel(’x(n)’)
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>> xc=logistic;
>> size(xc);

> > XC 2 - 1 T T T T T T T T
>> plo oot -
>>plo |
>> xlal
0.7F
>> ylal
0.6
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0.4r .
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0.2 J n
0.1r i
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>>clf
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>>clf
>> hold on
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>>clf
>> hold on
>> plot(xc(1:100))
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>>clf

>> hold on

>> plot(xc(1:100))
>>plot(xc2(1:100))
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>>clf
>> hold ‘[
>> plotost

>> plot_ | /\ /\ /\
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>> clf

>> hold on

>> plot(xc(1:100))
>>plot(xc2(1:100))

>> plot(xc(1:100),’'r--")
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>>clf

>> hold on

>> plot(xc(1:100))

>> plot(xc2(1:100))

>> plot(xc(1:100),’r--")

>> xlabel(’n’, 'FontSize’,20)

>> ylabel(’x(n)’, ’FontSize’,20)
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>>clf
>> hol
>> plo
>> plo
>> plo
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>>clf

>> hold on

>> plot(xc(1:100))

>> plot(xc2(1:100))

>> plot(xc(1:100),’r--")

>> xlabel(’n’, 'FontSize’,20)

>> ylabel(’x(n)’, ’FontSize’,20)
>> plot (xc2(1:100),°g*-")
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>>clf
>> hold’® ' ' ' ' ' ' ' ' '
>> plot

>> plot™
>>plot
>> xlab
>> ylabye
>> plot
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>>clf

>> hold on

>> plot(xc(1:100))

>> plot(xc2(1:100))

>> plot(xc(1:100),’r--")

>> xlabel(’n’, 'FontSize’, 20)

>> ylabel(’x(n)’, ’FontSize’,20)
>> plot (xc2(1:100),°g*-")

>>plot(xc2(1:100),°’g*-’", Linewidth’,[2])
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>>clf
>> hold’®
>> plot
>> plot’|
>>plot |
>> xlab
>> ylabgs|
>> plot
>> plotes}
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>>clf

>> hold on

>> plot(xc(1:100))

>> plot(xc2(1:100))

>> plot(xc(1:100),’r--")

>> xlabel(’n’, 'FontSize’, 20)

>> ylabel(’x(n)’, ’FontSize’,20)
>> plot (xc2(1:100),°g*-")

>>plot(xc2(1:100),°’g*-’", Linewidth’,[2])

>> help plot
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>>clf

>> hold on

>> plot(xc(1:100))

>> plot(xc2(1:100))

>> plot(xc(1:100),’r--")

>> xlabel(’n’, 'FontSize’, 20)

>> ylabel(’x(n)’, ’FontSize’,20)
>> plot (xc2(1:100),°g*-")
>>plot(xc2(1:100), 'g*-", Linewidth’,[2])
>> help plot

>> print -deps2 foo.eps
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>>clf

>> hold on

>> plot(xc(1:100))

>> plot(xc2(1:100))

>> plot(xc(1:100),’r--")

>> xlabel(’n’, 'FontSize’, 20)

>> ylabel(’x(n)’, ’FontSize’,20)
>> plot (xc2(1:100),°g*-")
>>plot(xc2(1:100), 'g*-", Linewidth’,[2])
>> help plot

>> print -deps2 foo.eps

>> help print
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(a) 00 logisticO0OOOODOODO
(b)) 000000000000 0<a<40000000
(c) 00Oplot00O0O0OOOODO
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